Click the highlighted part number to open a link to
that part on the Campbelltown Hobbies website


MSned
Highlight


2

2: Shocks 22 Shock Fluid
81160 RC8B3 Shock Body, 30.5mm 2 5420 10 Weight Silicone Shock Fluvid 2o0z.
81161 RC8B3 Shock Body, 39.5mm 2 5421 20 Weight Silicone Shock Fluvid 2o0z.
81170 RC8B3 TiN Shock Shaft, 3x30.5mm 2 5422 30 Weight Silicone Shock Fluid 20z.
81173 RC8B3 TiN Shock Shaft, 3.5x42.5mm 2 5423 40 Weight Silicone Shock Fluid V 20z.
81181 RC8B3 Shock Cap Insert 2 5424 22.5 Weight Silicone Shock Fluid 2o0z.
81185 RC8B3 Shock Rebuild Kit 2 5425 80 Weight Silicone Shock Fluid 2o0z.
81186 RC8B3 Shock O-Ring 8 5426 27.5 Weight Silicone Shock Fluid 2o0z.
81188 RC8B3 Shock Body Seal Retainer 2 5427 15 Weight Silicone Shock Fluid 2o0z.
81190 RC8B3 Shock Boofs 4 5428 25 Weight Silicone Shock Fluid 20z.
81194 RC8B3 Shock Rod End & Spring Cup 4 5429 35 Weight Silicone Shock Fluid 20z.
81200 RC8B3 Shock Pistons 2 ea. 5430 45 Weight Silicone Shock Fluid 20z.
(6x1.3 - KIT, 6x1.3 T, 8x1.2T) 5431 55 Weight Silicone Shock Fluid 20z.
81221 Spring Collars, 20mm 2 5432 32.5 Weight Silicone Shock Fluid 20z.
81452 R(C8B3.2 Shock Cap 2 5433 37.5 Weight Silicone Shock Fluid 2o0z.
81453 RC8B3 Shock Bladder, Stiff 2 5434 42.5 Weight Silicone Shock Fluid 20z.
81461 RC8B3.2 Shock Kit, Front 1 5435 50 Weight Silicone Shock Fluid 2o0z.
81462 RC8B3.2 Shock Kit, Rear 1 5436 60 Weight Silicone Shock Fluid 20z.
89215 M2.5mm Shock Piston Locknut 10 5437 70 Weight Silicone Shock Fluid 20z.
89278 Washer, 2.6x6mm 20 5438 47.5 Weight Silicone Shock Fluid 20z.
91492 12mm V2 Bleeder Screw / Gasket 2
81181
& 89215 ‘
© 89278 0 091492
o /81200 ™ 91492 8122y
. 81452
& 89278
l ° 81453 81221
Front:
81170
Front:
Rear: 81160
81173 Kit Front:
Rear: 81225
B 81161
Kit Rear:
81231
O siiss
9 81185 S
»
& 81185
g 81185
= 81194
&~ 81185
81194
& é 81188
81194
81222 Front Spring, V2, 4.91b/in, Green Pr.
81223 Front Spring, V2, 5.11b/in, White Pr.
81224 Front Spring, V2, 5.3Ib/in, Gray Pr.
81225 Front Spring, V2, 5.51b/in, Blue - KIT Pr.
81226 Front Spring, V2, 5.7Ib/in, Yellow Pr.
81229 Rear Spring, V2, 4.11b/in, White Pr.
81230 Rear Spring, V2, 4.2Ib/in, Gray Pr.
81231 Rear Spring, V2, 4.3Ib/in, Blue - KIT Pr.
81232 Rear Spring, V2, 4.41b/in, Yellow Pr.



https://www.campbelltownhobbies.com.au/team-associated-locknuts-shock-piston
https://www.campbelltownhobbies.com.au/team-associated-washers-2-5-mm
https://www.campbelltownhobbies.com.au/team-associated-washers-2-5-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-pistons
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-shafts-30-5mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-cap-inserts
https://www.campbelltownhobbies.com.au/team-associated-12-mm-v2-bleeder-gaskets
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-16mm-shock-caps
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-16mm-shock-bladders-stiff
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-bodies-30-5mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-bodies-39-5mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-body-seal-retainers
https://www.campbelltownhobbies.com.au/team-associated-spring-collars-20mm
https://www.campbelltownhobbies.com.au/team-associated-front-springs-v2-blue-5-5-lb-in-l70-8-75t-1-6d
https://www.campbelltownhobbies.com.au/team-associated-rear-springs-v2-blue-4-3-lb-in-l86-10-5t-1-6d
https://www.campbelltownhobbies.com.au/team-associated-shock-rod-ends-and-spring-cups-20mm
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-rebuild-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-boots
https://www.campbelltownhobbies.com.au/team-associated-shock-rod-ends-and-spring-cups-20mm
https://www.campbelltownhobbies.com.au/team-associated-shock-rod-ends-and-spring-cups-20mm
https://www.campbelltownhobbies.com.au/shock-shafts-42.5mm-rc8t3-t3e
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-10-weigth
https://www.campbelltownhobbies.com.au/team-associated-5421-silicone-shock-oil-20-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-30-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-40-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-22-5-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-80-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-27-5-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-15-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-25-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-35-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-45-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-55-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-32-5-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-37-5-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-42-5-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-42-5-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-60-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-70-weight
https://www.campbelltownhobbies.com.au/team-associated-silicone-shock-oil-47-5-weight
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-front-springs-v2-green-4-9-lb-in-l70-9-5t-1-6d
https://www.campbelltownhobbies.com.au/team-associated-front-springs-v2-white-5-1-lb-in-l70-9-25t-1-6d
https://www.campbelltownhobbies.com.au/team-associated-front-springs-v2-gray-5-3-lb-in-l70-9-0t-1-6d
https://www.campbelltownhobbies.com.au/team-associated-front-springs-v2-yellow-5-7-lb-in-l70-8-5t-1-6d
https://www.campbelltownhobbies.com.au/team-associated-rear-springs-v2-white-4-1-lb-in-l86-11-0t-1-6d
https://www.campbelltownhobbies.com.au/team-associated-rear-springs-v2-gray-4-2-lb-in-l86-10-75t-1-6d
https://www.campbelltownhobbies.com.au/team-associated-rear-springs-v2-yellow-4-4-lb-in-l86-10-25t-1-6d

81008
81009
81012
81379
81380
81381
81383
81384
81385
89208
91564

o

81380

Diff Outdrives, 15mm (Rear Diff)
RC8B3.1 Underdrive Diff Gear Set, 42T
Diff Outdrives, 17mm (Front Diff)
RC8B3.1 Differential Case

RC8B3.1 Differential Gear Set (HTC) - Kit
RC8B3.1 Differential Shim Set

RC8B3.1 Differential Gear Set (LTC)
RC8B3.1 Differential Gasket

RC8B3.1 Differential O-Ring Set

M3 x 14mm FHCS

8 x 16 x 5mm Bearings

N;—Q————N—N

81008 - Rear
81012 - Front

s1380d

81380 —
81385 ©

81381 ©
91564 &)

81381 »

T

89208 — "

T

D0 91564

o
81381 #1609 @
81381
81381 < P
81384
g
- Fron 81380 —

81380 &9

81012 Diff Outdrives, 17mm (Center Diff) 2
81379 RC8B3.1 Differential Case 1
81380 RC8B3.1 Differential Gear Set (HTC) 1
81381 RC8B3.1 Differential Shim Set 1
81383 RC8B3.1 Differential Gear Set (LTC) 1
81384 RC8B3.1 Differential Gasket 3
81385 RC8B3.1 Differential O-Ring Sef 1
81386 RC8B3.1 Spur Gear, 46T - KIT 1
89208 M3 x 14mm FHCS 10
91564 8 x 16 x 5mm Bearings 2
81012 ?
81381 ©
81380}y 91564 &)
81380 —
81381 8'385v/§3% '
0§/\\ 31379.‘?,"B ol l‘|' T
\P SESSs 81386
81380 81381°
81384
arolza e
81385 ©
81380 —
81380 @

ss Front / Rear Gear Differential s: Center. Gear Differential

4671
25225
31448
31532
81037
81038
81039
81040
81042
81256
81448
81449
89149
89212
89214

s2 Center Bulkhead

M3 x 30mm FHCS
M4 x 12mm FHCS

M3 x 10mm Set Screw 1
M3 x 3mm Set Screw 20
M2.5 x 8mm FHCS 6
M2.5 x 8mm BHCS 10
RC8B3 Brake Rotor 2
RC8B3 Brake Pad Spring 4
RC8B3 Brake Pads and Springs 1
RC8B3 Brake Cam 2
RC8B3 Brake Lever 2
C-Clip, 5mm [
Center Bulkhead Set 1
RC8B3.2 Center Top Plafe 1
Brake Bolt 4
10
10

31532

89212
31532
89212 i s
89212
(]
25225
81448 89212



https://www.campbelltownhobbies.com.au/team-associated-differential-shim-set
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-gear-set-htc
https://www.campbelltownhobbies.com.au/team-associated-differential-o-rings-set
https://www.campbelltownhobbies.com.au/team-associated-differential-o-rings-set
https://www.campbelltownhobbies.com.au/team-associated-differential-o-rings-set
https://www.campbelltownhobbies.com.au/team-associated-differential-o-rings-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-differential-case
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-differential-case
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-8x16x5-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-8x16x5-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-8x16x5-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-8x16x5-mm
https://www.campbelltownhobbies.com.au/team-associated-differential-shim-set
https://www.campbelltownhobbies.com.au/team-associated-differential-shim-set
https://www.campbelltownhobbies.com.au/team-associated-differential-shim-set
https://www.campbelltownhobbies.com.au/team-associated-differential-shim-set
https://www.campbelltownhobbies.com.au/team-associated-differential-shim-set
https://www.campbelltownhobbies.com.au/team-associated-differential-shim-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-diff-outdrives
https://www.campbelltownhobbies.com.au/team-associated-differential-outdrive-17mm
https://www.campbelltownhobbies.com.au/team-associated-differential-outdrive-17mm
https://www.campbelltownhobbies.com.au/team-associated-differential-outdrive-17mm
https://www.campbelltownhobbies.com.au/team-associated-differential-outdrive-17mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-diff-outdrives
https://www.campbelltownhobbies.com.au/team-associated-screws-3x14-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x14-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-under-drive-gear-set
https://www.campbelltownhobbies.com.au/team-associated-differential-gaskets
https://www.campbelltownhobbies.com.au/team-associated-differential-gaskets
https://www.campbelltownhobbies.com.au/team-associated-spur-gear-46t-mod-1p
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-screws-3x0-5x8-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x0-5x8-mm-bhcs
https://www.campbelltownhobbies.com.au/rc8-fhcs-3x30mm
https://www.campbelltownhobbies.com.au/rc8-fhcs-3x30mm
https://www.campbelltownhobbies.com.au/rc8-fhcs-3x30mm
https://www.campbelltownhobbies.com.au/rc8-fhcs-3x30mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-center-bulkhead
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-center-bulkhead
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x0-5x10-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-brake-lever
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-brake-lever
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-center-top-plate
https://www.campbelltownhobbies.com.au/team-associated-c-clips-5-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-brake-cam
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-brake-cam
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-brake-pads-and-springs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-brake-pads-and-springs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-brake-rotor
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-brake-pad-spring
https://www.campbelltownhobbies.com.au/team-associated-brake-bolt
https://www.campbelltownhobbies.com.au/team-associated-brake-bolt
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight


4

22 Front Gearbox

4675
25620
31521
81009
81015
81020
81050
81060
81257
81259
81260
81264
81291
81292
81446
81447
89214
89221
91561

M2.5 x 6mm FHCS

M3 x 10mm SHCS

M2.5 x 8mm BHCS

RC8B3.1 Diff Pinion Gear, 12T
RC8B3 Gearbox

RC8B3 Center Universal, 76mm
RC8B3 Arm Mount Insert
RC8B3 Hinge Pin Sef

M3 x 6mm Set Screw
M2.5 x 18mm BHCS

M4 x 14mm BHCS

M4 x 20mm FHCS

RC8B3 HRC Arm Mount, A
RC8B3 HRC Arm Mount, B
RC8B3 Shim Set

RC8B3 Body Post & Bumper
M4 x 12mm FHCS

M5 x 4mm Set Screw

Bearing, 6 x 12 x 4mm

12 ea.

10
10
10
1
2
1

81009 91

8129

81260

89221

81015
@

561

8'264

81050 81060

o®

'_\ L\

81020

81292

81050

22 Rear Gearbox

4675
25620
31521
81009
81015
81021
81050
81060
81257
81259
81260
81264
81446
81454
81455
89214
89221
91561

M2.5 x 6mm FHCS

M3 x 10mm SHCS

M2.5 x 8mm BHCS

RC8B3.1 Diff Pinion Gear, 12T
RC8B3 Gearbox

Center Universal, 106mm

RC8B3 Arm Mount Insert

RC8B3 Hinge Pin Set

M3 x 6mm Set Screw

M2.5 x 18mm BHCS

M4 x 14mm BHCS

M4 x 20mm FHCS

RC8B3 Shim Set

RC8B3 HRC Arm Mount, Narrow, €
RC8B3 HRC Arm Mount, Narrow, D
M4 x 12mm FHCS

M5 x 4mm Set Screw

Bearing, 6 x 12 x 4mm

10
10
1

12 ea.

10

10
10

10
10

91561

81015

3922

81021

81050

81260

81264

31521

81259

1015

/

1

1050

3

89214 / 21446
1060

81454

0

81446
81060
81050

81015

81257
_7

810'5
25620

8'260

81455

81050



https://www.campbelltownhobbies.com.au/team-associated-under-drive-gear-set
https://www.campbelltownhobbies.com.au/team-associated-under-drive-gear-set
https://www.campbelltownhobbies.com.au/team-associated-set-screws-5x4-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-gearbox
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-gearbox
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-gearbox
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-gearbox
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-6x12x4-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-6x12x4-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-6x12x4-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-6x12x4-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-center-universal-76mm
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-shcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-shcs
https://www.campbelltownhobbies.com.au/team-associated-screws-m2-5-x-8-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-m2-5-x-8-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-m2-5-x-8-bhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-gearbox
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-gearbox
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x18-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x18-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x6-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x6-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-body-posts-and-bumper
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x0-45x6-in-fhcs
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-shim-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-shim-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-shim-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-shim-set
https://www.campbelltownhobbies.com.au/team-associated-screws-4x14-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x14-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x14-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x14-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x20-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x20-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-hinge-pin-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-hinge-pin-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-hinge-pin-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-hinge-pin-set
https://www.campbelltownhobbies.com.au/team-associated-arm-mount-a-hrc
https://www.campbelltownhobbies.com.au/team-associated-arm-mount-b-hrc
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-rc8b3-gearbox
https://www.campbelltownhobbies.com.au/team-associated-set-screws-5x4-mm
https://www.campbelltownhobbies.com.au/team-associated-center-universal-106mm
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x0-45x6-in-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-hrc-arm-mount-d-narrow
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-hrc-arm-mount-c-narrow
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight


5

s Steering

8680 FT Steering Bearing Sef,
5x8x2.5mm& 6 x 10 x 3mm
M3 x 8mm FHCS
Bearing, 6 x 10 x 3mm
Servo Saver Spring
RC8B3.1 Servo Saver Tube
RC8B3 Steering Bellcrank
RC8B3 Steering Bellcrank Nut
RC8B3 Steering Rack
RC8B3 Steering Post
M4 x 10mm FHCS
Turnbuckle Ball, 4mm

25201
31404
81083
81084
81086
81088
81089
81091
81262
81397

£
®
8

DAgN~=N=m~=bhg

31404
“

81088 §J
8680 &

81086

89214

8680 &
31404 - ;
81089
81091 81091
25201 &
25201 ] (& S22 8 Siahe &
31404

22 Front Shock Tower: 2:' Rear. Shock Tower
25612 M3 Locknut with Flange, Black 20 2208 Large Hood Pins
81026 RC8B3 Shock Tower, Front 1 25203 M3 x 12mm FHCS
81050 RC8B3 Arm Mount Inserts 12 ea. 25211 M3 x 10mm BHCS
81196 RC8B3 Shock Bushing 4 25612 M3 Locknut with Flange, Black
89214 M4 x 12mm FHCS 10 81196 RC8B3 Shock Bushing
89225 M3 x 24mm SHCS 10 81447 RC8B3 Body Posts & Bumper

81456 RC8B3.2 Rear Shock Tower, Aluminum

89214 M4 x 12mm FHCS

89225 M3 x 24mm SHCS

81196
25612 25211
89225 2 520 3
@ P
’ ’ 25211
o, A

v P

89214

81456



https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-body-posts-and-bumper
https://www.campbelltownhobbies.com.au/team-associated-bearings-6x10-mm
https://www.campbelltownhobbies.com.au/team-associated-bearings-6x10-mm
https://www.campbelltownhobbies.com.au/team-associated-bearings-6x10-mm
https://www.campbelltownhobbies.com.au/team-associated-bearings-6x10-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-bellcrank-nut
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-bellcrank-nut
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-5x8x2-5-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-5x8x2-5-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-5x8x2-5-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-5x8x2-5-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-bellcrank-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-bellcrank-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-bellcrank-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-post
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-post
https://www.campbelltownhobbies.com.au/team-associated-screws-4x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-servo-saver-spring
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-servo-saver-tube
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-servo-saver-tube
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-rack
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3-with-flange
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3-with-flange
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-bushings
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-bushings
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-tower-front
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-screws-3x24-mm-shcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x24-mm-shcs
https://www.campbelltownhobbies.com.au/team-associated-large-hood-pins
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-rear-shock-tower-aluminum
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x12-mm-fhcs
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight


25201
25202
25211
25225
81056
81060
81063
81065
81067
81070
81072
81079
81082
81093

81197
81257
81326
81328
81394
81397
81438
81442
81446
89096
89221
89317
89526
91565
91566

s Front Suspension

M3 x 8mm FHCS

M3 x 10mm FHCS

M3 x T0mm BHCS

M3 x 3mm Set Screw

RC8B3 Suspension Arm Endcap
RC8B3 Hinge Pin Set

RC8B3 Steering Block Arm +2 deg
RC8B3 Steering Block

RC8B3 Pillow Ball

RC8B3 Pillow Ball Nut

RC8B3 Pillow Ball Shim

RC8B3 Wheel Hexes, + Imm wide
RC8B3 Wheel Nuis, 17mm Blue
RC8B3 Rod End, 4mm (4 ball joints,
2 rod ends, 2 offset rod ends)
RC8B3 Shock Pin

M3 x 6mm Set Screw

RC8B3 CVA Axle, steel

FT RC8B3 CVA Rebvild Kit
RC8B3.1 CVA Driveshaft (94mm)
RC8B3.1 Turnbuckle Balls
RC8B3.2 Front Lower Susp. Arms
RC8B3.2 Front Upper Arm Set
RC8B3 Shim Set

Wheel Hex Pin

M5 x 4mm Set Screw

Droop Screw

4 x 50mm Turnbuckle

8 x 16 x 5Smm Flanged Bearing
15 x 21 x4mm Bearing

~wnaan¥¥=~a3333

a~d<an=nga

adN®g

25201 r;
i
81442 STGED
81446
v
48
81442
81328

87 g1446

" 81072

81394
91566

81328 ~ Qb \

81257 — !, 8'326
25225
1197

81438

81197«
89317

//
81056
81438

4 81067

1 81072
44

4
25201

81056 81397 3
/ 81093

\81067

v

81065 . o

25211

T 25202

81065
81070

91565
89096

'0

81082

81070

81079
89221

25201
25211
25225
25612
81075
81076
81079
81082
81094

81197
81257
81326
81328
81394
81397
81398
81434
81446
89096
89204
89221
89269
89317
91565
91566

22 Rear Suspension

M3 x 8mm FHCS

M3 x 10mm BHCS

M3 x 3mm Set Screw

M3 Flanged Locknut

RC8B3 Rear Hub

RC8B3 Hub Hinge Pin

RC8B3 Wheel Hexes, + Imm wide
RC8B3 Wheel Nuis, 17mm Blue
RC8B3 Rod End, 5mm (4 ball joints,
2 rod ends, 2 offset rod ends)
RC8B3 Shock Pin

M3 x 6mm Set Screw

RC8B3 CVA Axle, steel

FT RC8B3 CVA Rebvuild Kit
RC8B3.1 CVA Driveshaft (94mm)
RC8B3.1 Turnbuckle Ball
RC8B3.1 Turnbuckle Ball (Shouldered)
RC8B3.2 Rear Arm Set

RC8B3 Shim Set

Wheel Hex Pin

M3 x 24mm BHCS

M5 x 4mm Set Screw

Steel Turnbuckle, 5 x 38mm
Droop Screw

8 x 16 x 5mm Flanged Bearing
15 x 21 x4mm Bearing

81397 _» 25211

Nn¥SSSs

81328
81394

N

)

25612
25225’

81446
81257::70

NN

81326
81328

NhoONggh~=~hhaN~NOD

81094 o ¥
sh‘ib 89269
o

81094
> 81398

89204
81075

1565
81079
89096
89221

8'075

i 25201



https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-shim-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-shim-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-shim-set
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-hinge-pin-set
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-front-upper-suspension-arm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-front-upper-suspension-arm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-suspension-arm-endcap
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-suspension-arm-endcap
https://www.campbelltownhobbies.com.au/team-associated-cva-driveshafts-94-mm
https://www.campbelltownhobbies.com.au/team-associated-cva-driveshafts-94-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x6-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x6-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x6-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-front-suspension-arms
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-front-suspension-arms
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-pins
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-pins
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-pins
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-shock-pins
https://www.campbelltownhobbies.com.au/team-associated-droop-screws
https://www.campbelltownhobbies.com.au/team-associated-droop-screws
https://www.campbelltownhobbies.com.au/team-associated-factory-team-rc8b3-cva-rebuild-kit
https://www.campbelltownhobbies.com.au/team-associated-factory-team-rc8b3-cva-rebuild-kit
https://www.campbelltownhobbies.com.au/team-associated-factory-team-rc8b3-cva-rebuild-kit
https://www.campbelltownhobbies.com.au/team-associated-factory-team-rc8b3-cva-rebuild-kit
https://www.campbelltownhobbies.com.au/team-associated-cva-axle-steel
https://www.campbelltownhobbies.com.au/team-associated-cva-axle-steel
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-15x21x4-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-15x21x4-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-pillow-ball-shims
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-pillow-ball-shims
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-pillow-balls
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-pillow-balls
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-blocks
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-blocks
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-steering-blocks
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-pillow-ball-nuts
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-pillow-ball-nuts
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-8x16x5-mm-flanged
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-8x16x5-mm-flanged
https://www.campbelltownhobbies.com.au/team-associated-wheel-hexes-1mm-wide
https://www.campbelltownhobbies.com.au/team-associated-wheel-hexes-1mm-wide
https://www.campbelltownhobbies.com.au/team-associated-wheel-hex-pins
https://www.campbelltownhobbies.com.au/team-associated-wheel-hex-pins
https://www.campbelltownhobbies.com.au/team-associated-set-screws-5x4-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-5x4-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-wheel-nuts-17-mm-blue
https://www.campbelltownhobbies.com.au/team-associated-ft-wheel-nuts-17-mm-blue
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-turnbuckle-balls
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-turnbuckle-balls
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-turnbuckle-balls
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-rod-ends-4mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-rod-ends-4mm
https://www.campbelltownhobbies.com.au/team-associated-turnbuckles-4x50-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-rc8b3-steering-block-arms-2-deg-aluminum
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-rc8b3-rod-ends-5mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-rod-ends-5mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-turnbuckle-balls-shouldered
https://www.campbelltownhobbies.com.au/team-associated-turnbuckles-38mm-steel
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3-with-flange
https://www.campbelltownhobbies.com.au/team-associated-screws-3x24-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-rear-hubs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-rear-hubs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-rear-suspension-arms
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-rear-suspension-arms
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-hub-hinge-pins
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3-with-flange
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight


7

22 Radio Tray,

6338 Antenna Tube with Cap, Black 1
25187 M3 x 14mm BHCS 10
25201 M3 x 8mm FHCS 10 31448
25211 M3 x 10mm BHCS 10 '
25215 M3 Locknuts 10 '
25225 M3 x 3mm Set Screw 10 T
31448 M2.5 x 8mm FHCS 10
42007 Receiver Box Seals 1
81432 RC8B3.2 Batiery / Receiver Box 1 25187
81433 RC8B3.2 Radio Tray Post (2) 1 4
Spacers (4) i 25211 81432
81450 RC8B3.2 Transponder Mount 1 31448
81451 RC8B3.2 Radio Tray Brace o
89214 M4 x 12mm FHCS 10 o— 89218
89218 M3 x 8mm Washer 10 25187 1 |
I~ 89218 22" 42007
o 31448
oy
25'87<[' 31448 25'87/j’i' T '
89218 Lo
89218 S ) 31448
1 81450 42007
81451 81432 -
e e
° 25225 81433 B '&/
25215
338 _ 81432 \\
I 1 89214 L 89214 A 29214

1401
25201
25215
25225
31386

81250
81251
91048
91050
91469

FT Ti. Turnbuckle, 33 mm 2
M3 x 8mm FHCS 10 25225 @
M3 Locknut, Black 10 81251
M3 x 3mm Set Screw 10
Bulkhead Washer, 10 25201 ' i
7.8x2.0mm, Blue
RC8B3 Servo Horns 1
RC8B3 Linkage Set 1 81 250 25225
HD Ballstuds, 8 mm 8 81251
HD Balistuds, 12 mm 8 /
Ball Cup Set, [} 1
all Cup sma > ‘
25215 ¥ 5201 ]c 81250 A
@ ©s81250 o —— GYaE} 81251
§ STE5D 9 25225
31386 ® @ s1250 “31251
— ¢ 81251
O O  si1251
9146? 81250 .’25225 81251
,-/, . % ° zszzs
, — 81251
91469
% 91050 81251 525225
81251
® 31386 s1251”



https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-receiver-and-battery-box
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-receiver-and-battery-box
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-receiver-and-battery-box
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-receiver-and-battery-box
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x14-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x14-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x14-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x14-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-washers-3x8-mm
https://www.campbelltownhobbies.com.au/team-associated-washers-3x8-mm
https://www.campbelltownhobbies.com.au/team-associated-washers-3x8-mm
https://www.campbelltownhobbies.com.au/team-associated-washers-3x8-mm
https://www.campbelltownhobbies.com.au/enduro-receiver-box-seals-42007
https://www.campbelltownhobbies.com.au/enduro-receiver-box-seals-42007
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-transponder-mount-switch-m
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-radio-tray-brace
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-radio-tray-posts-and-space
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-radio-tray-posts-and-space
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-antenna-tube-12
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-linkage-kit
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3
https://www.campbelltownhobbies.com.au/team-associated-bulkhead-washers-7-8x2-0-mm-blue-aluminum
https://www.campbelltownhobbies.com.au/team-associated-bulkhead-washers-7-8x2-0-mm-blue-aluminum
https://www.campbelltownhobbies.com.au/team-associated-heavy-duty-ballstuds-8-mm
https://www.campbelltownhobbies.com.au/ball-cups-rod-ends-and-steering-link
https://www.campbelltownhobbies.com.au/ball-cups-rod-ends-and-steering-link
https://www.campbelltownhobbies.com.au/team-associated-ft-titanium-turnbuckle-33-mm-1-30-in
https://www.campbelltownhobbies.com.au/team-associated-heavy-duty-ballstuds-12-mm
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight


22 Front Chassis Brace

2208
25201
81030
81032
81049
81050
81262
81447
89214
89216

Large Hood Pins

M3 x 8mm FHCS

RC8B3 Top Plate

RC8B3 Chassis Brace
RC8B3 Upper Link Mount
RC8B3 Arm Mount Insert
M4 x 10mm FHCS

6
10
1
Pr.
1
12 ea.
10

RC8B3.2 Body Post and Bumpers 1

M4 x 12mm FHCS
M4 Locknut

2208 % Teo214

81447

89214 L'

81262

25201 \"7

25201

81030

81032

®389216

25188
25215
81032
89214
89216

Rear Chassis Brace

3 x 20mm BHCS

M3 Locknut, Black
RC8B3 Chassis Brace
4 x 12mm FHCS

M4 Locknut

25188\

20
20
Pr.
10
10

89214

T'r

® 25215

889216

-~
)

89216

89214 J|
89214

7732
25201
25620
31540
81114
81115
81118
81262
81430
81431

7
256204'7

8111544

M4 x 4mm Set Screw 10
M3 x 8mm FHCS 10
M3 x 10mm SHCS 10 31540 ¢

M3 x Smm FHCS

RC8B3 Engine Mount Washers
RC8B3 Engine Mount

RC8B3 Pipe Mount

M4 x 10mm FHCS

RC8B3.2 Chassis

RC8B3.2 Side Guards

25620

«d

s1a—o & ©
\80 & 81118 & 81118
8,2624.1 81262

81262



https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-body-posts-and-bumper
https://www.campbelltownhobbies.com.au/team-associated-large-hood-pins
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-top-plate
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-upper-link-mount
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-arm-mount-insert-set
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m4
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m4
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m4
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-chassis-brace
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-chassis-brace
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x20-mm-bhss
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-chassis-brace
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/tc5-fhcs-m3x0.5.5
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x8-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-side-guards
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-side-guards
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-shcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-shcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-engine-mount-washers
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-engine-mount-washers
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-engine-mounts
https://www.campbelltownhobbies.com.au/team-associated-screws-4x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-set-screws-4x4-mm
https://www.campbelltownhobbies.com.au/tc5-fhcs-m3x0.5.5
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-pipe-mount
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-pipe-mount
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-chassis
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight


81365 Cluich Springs (0.90, 4 Shoe) - KIT 4 91560 ,
81366 Cluich Springs (0.95, 4 Shoe) - KIT 4 ~ O
81367 Cluich Springs (1.00, 4 Shoe) 4 \ ) > 89148
81368 Cluich Springs (1.05, 4 Shoe) 4 91560 (\5’
81369 Cluich Springs (1.10, 4 Shoe) 4
81370 RC8B3.1 Flywheel (4 Shoe) 1
81371 RC8B3.1 Flywheel Collet (4 Shoe) 2 89218 , 81370
81372 RC8B3.1 Flywheel Nut (4 Shoe) 1 \ 0N @’ 81374
81373 Clutch Shoe Pins (4 Shoe) 4 O \J
81374 Clutch Bell (13T, Vented, 4 Shoe) 1 ) Q
81375 Clutch Shoe, Hard (4 Shoe) - KIT 2 89233 ( 89148 @
81377 Cluich Shoe, Composite Hard (4 Shoe) 2
81402 Cluich Shoe, Composite (4 Shoe) - KIT 2 ’ Q \
89148 Cluich Bell Shim Set 1 81371
89218 M3 x 8mm Washer 10 81365 d N
89223 M3 x 8mm SHCS 10 81366
91560 5 x 10 x 4mm Bearing 4 81372
s b9
81402
3718 Nylon Wire Tie, 12" 12
25620 3 x 10mm SHCS 20
81125 RC8B3 Air Filter Element 1 81458
81458 RC8B3.2 Air Filter & Boot 1
81458 G
3718
81458
25620 &
3719 Nylon Wire Tie, 6” 1
25211 3 x 10mm BHCS 20 3719 - 1 25211
31520 2.5 x 6mm BHCS 6 ) o 89218
81120 RC8B3 Fuel Tank 1
81122 RC8B3 Tank Post / Grommet 2 ea. 25211 § Ss81122
81262 4 x 10mm FHCS 6 >
89218 3 x 8mm Washer 10 892180
31122 Q@ @ 81120

81122 4

4 81262



https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-5x10x4-mm
https://www.campbelltownhobbies.com.au/team-associated-ft-bearings-5x10x4-mm
https://www.campbelltownhobbies.com.au/team-associated-washers-3x8-mm
https://www.campbelltownhobbies.com.au/team-associated-clutch-bell-shim-set
https://www.campbelltownhobbies.com.au/team-associated-clutch-bell-shim-set
MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-clutch-springs-0-90-mm-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-clutch-springs-0-95-mm-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-clutch-shoe-pins-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-clutch-shoes-hard-4-shoe-aluminum
https://www.campbelltownhobbies.com.au/team-associated-clutch-shoes-composite-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-flywheel-nut-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-flywheel-collets-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-clutch-bell-13t-vented-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-1-flywheel-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-clutch-springs-1-00-mm-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-clutch-springs-1-05-mm-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-clutch-springs-1-10-mm-4-shoe
https://www.campbelltownhobbies.com.au/team-associated-clutch-shoes-composite-hard-4-shoe
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-air-filter-boot
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-air-filter-boot
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-air-filter-boot
MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-rc8b3-air-filter-element
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-shcs
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-nylon-wire-ties-6-in
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-3x10-mm-bhcs
https://www.campbelltownhobbies.com.au/team-associated-washers-3x8-mm
https://www.campbelltownhobbies.com.au/team-associated-washers-3x8-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-fuel-tank-post-and-grommet-sets
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-fuel-tank-post-and-grommet-sets
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-fuel-tank-post-and-grommet-sets
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-fuel-tank-post-and-grommet-sets
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-fuel-tank
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-fuel-tank
https://www.campbelltownhobbies.com.au/team-associated-screws-4x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-4x10-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-screws-2-5x0-45x6-mm-bhcs
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-clutch-bell-shim-set

10

s Anti-Roll Bars

25225 M3 x 3mm Set Screw 10
81129 RC8B3 Front Anti-Roll Bars (2.0, 2.1, 2.2mm) 1 ea.
81130 RC8B3 Front Anti-Roll Bars (2.3, 2.4, 2.5mm) 1 ea.
81131 RC8B3 Front Anti-Roll Bars (2.6, 2.7, 2.8mm) 1 ea.
81139 RC8B3 Rear Anti-Roll Bars (2.2, 2.3, 2.4mm) 1 ea.
81140 RC8B3 Rear Anti-Roll Bars (2.5, 2.6, 2.7mm) 1 ea.
81141 RC8B3 Rear Anti-Roll Bars (2.8, 2.9, 3.0mm) 1 ea.
81150 RC8B3 Anti-Roll Bar Drop Link / Collet 1
81258 M3 x 12mm Set Screw 6
81150 i
81130
81131
81139 NS0 8
81150 &)
2522509
O
25225 t;]
81150

25187 M3 x 14mm BHCS 10
25203 M3 x 12mm FHCS 10
25215 M3 Locknut, Black 10

81104
81105
81106
81108
81109
81263

RC8B3 IFMAR Wing, Black 1
RC8B3 IFMAR Wing, White
RC8B3 Wing, Black

RC8B3 Wing Mount

Wing Mount, +8mm

M4 x 16mm FHCS

\ 1—— 25203
o 1

o

O\ ™ =~ =

81106

81106

81104
81105
81106

25215
S — 81263
e A
®
81108
81109
e 25215
25187—

:s Fueling Supplies

1747 Nitro Fuel Bottle 500¢cc 1
1751 FT Compact Starter Box 1
7724  Fuel Line 15”7, 380mm 1

1747

:2 Wheels / Tires / Bodies / Decals

726
81110
89296
89297
81464

Reedy 2016 Sticker Set
RC8B3 Pro Line Body

RC8 83mm Wheels (White)
RC8 83mm Wheels (Yellow)
RC8B3.2 Decal Sheet

D Y YL



https://www.campbelltownhobbies.com.au/team-associated-rc8b3-anti-roll-bar-drop-link-collet
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-anti-roll-bar-drop-link-collet
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-anti-roll-bar-drop-link-collet
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-anti-roll-bar-drop-link-collet
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x3-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-anti-roll-bar-drop-link-collet
https://www.campbelltownhobbies.com.au/team-associated-set-screws-3x12-mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-wing-black
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-wing-black
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-wing-black
https://www.campbelltownhobbies.com.au/team-associated-screws-3x12-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3
https://www.campbelltownhobbies.com.au/team-associated-locknuts-m3
https://www.campbelltownhobbies.com.au/team-associated-screws-4x16-mm-fhcs
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-wing-mount
https://www.campbelltownhobbies.com.au/team-associated-screws-3x14-mm-bhcs
https://www.campbelltownhobbies.com.au/rc8b3-ifmar-wing-black
https://www.campbelltownhobbies.com.au/rc8b3-ifmar-wing-white
https://www.campbelltownhobbies.com.au/wing-mount-8mm-rc8b3
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/team-associated-rc8b3-ft-front-anti-roll-bars-2.0
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-ft-front-anti-roll-bars-2-3-2-5mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-ft-front-anti-roll-bars-2-6-2-8mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-ft-rear-anti-roll-bars-2.2-2
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-ft-rear-anti-roll-bars-2-5-2-7mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3-ft-rear-anti-roll-bars-2-8-3-0mm
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

https://www.campbelltownhobbies.com.au/reedy-factory-team-compact-starter-box
https://www.campbelltownhobbies.com.au/fuel-bottle-pro-500cc
https://www.campbelltownhobbies.com.au/fuel-tubing
https://www.campbelltownhobbies.com.au/pro-line-body-rc8b3
https://www.campbelltownhobbies.com.au/rc8-wheels-white-83mm
https://www.campbelltownhobbies.com.au/rc8-wheels-yellow-83mm
https://www.campbelltownhobbies.com.au/team-associated-rc8b3.2-decal-sheet
MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight

MSned
Highlight


	Blank Page



